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Public Class Forml
Dim pointer As PointF
Dim angle As Integer

Private Sub Buttonl_Click(ByVal sender As System.Object, _
ByVal e As System.EventArgs) Handles Buttonl.Click

Dim W As Integer
Dim H As Integer

PictureBoxl.Width
PictureBoxl.Height
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Dim n As Integer
Dim length As Integer

n=4
length = 4
pointer.X = 0 : pointer.Y = H / 2
angle = 0
kochCurve(n, length)
End Sub
Sub kochCurve(ByVal n As Integer, ByVal length As Integer)
If n =0 Then T — DEX
fmove(length, 3)
Else

kochCurve(n - 1, length)
turn(60)

kochCurve(n - 1, length)

turn(-120)
kochCurve(n - 1, length)
turn(60)
kochCurve(n - 1, length)
End If
End Sub

Private Sub fmove(ByVval length, ByVal col)

Dim dx As Single, dy As Single
dx length * Math.Cos(Math.Pl / 180.0 * angle)
dy length * Math.Sin(Math.Pl1 / 180.0 * angle)
Dim newPoint As PointF

newPoint.X
newPoint.Y

= pointer.X + dx

= pointer.Y - dy “JEEESROMXITHER

Dim gc As Graphics = PictureBoxl.CreateGraphics

gc.DrawLine(New Pen(Color.FromArgb(col + &HFFO00000)), _
pointer, newPoint)

gc.Dispose()

pointer = newPoint
End Sub

Sub turn(ByVal deg)
angle = (angle + deg) Mod 360
End Sub
End Class
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Public Class Forml
Private Sub Buttonl_ Click(ByVal sender As System.Object, _
Byval e As System.EventArgs) Handles
Buttonl.Click
Dim W As Integer = PictureBox1l.Width
Dim H As Integer = PictureBoxl.Height
Dim p(3) As PointF
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pP(1)-X
p(2)-X
P(3)-X
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W -1

p(1l).Y = 10

:p(2).Y =H - 10

0 : p(3).Y =H - 10

triangle(5, p(1), p(2). p(3))

End Sub

Private Sub triangle(ByVal n As Integer, Byval pl As PointF, _
Byval p2 As PointF, Byval p3 As PointF)
Dim pa As PointF, pb As PointF, pc As PointF

Ifn-=

Dim gc As Graphics =

0]

Then

PictureBoxl.CreateGraphics

Dim pnt() As PointF = {pl, p2, p3}

gc.-FillPolygon(Brushes.Black, pnt)

gc.Dispose()

Exit Sub

End If

pa.X = (p1.-X + p2.x) / 2
pa.Y = (pl.Y + p2.y) / 2
pb.X = (p2.x + p3.X) / 2
pb.Y = (p2.y + p3.Y) / 2
pc.X = (p3.X + p1.X) / 2
pc.Y = (p3.Y + pl.Y) / 2
triangle(n - 1, pl, pa, pc)
triangle(n - 1, pa, p2, pb)
triangle(n - 1, pc, pb, p3)

End Sub
End Class
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Public Class Forml

Dim angle As Single "#Jiif]

Dim addangle As Single "4yl
Dim bscale As Single "k
Dim length As Single
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Private Sub Buttonl_Click(ByVal sender As System.Object, _

ByVval e As System.EventArgs)
Buttonl.Click

PictureBoxl.Width
PictureBoxl.Height

Dim W As Integer
Dim H As Integer
Dim p As PointF

angle = 90
addangle = 30
bscale = 0.7
length = 50

p-X=W/2 > p.Y=H-10

branch(10, p, length, angle)
End Sub

Handles

Private Sub branch(ByVal n As Integer, ByvVal pO As PointF, _
Byval len As Integer, ByVal angle As Integer)

Dim pl As PointF

IT n =0 Then Exit Sub
pl.X = p0.X + len * Math.Cos(angle /7 180.0 * Math.PI)
pl.Y = pO.Y - len * Math.Sin(angle /7 180.0 * Math._PI)

Dim gc As Graphics = PictureBoxl.CreateGraphics
gc.DrawLine(New Pen(Color.Black), pO, pl)
gc.Dispose()

branch(n - 1, pl, len * bscale, angle + addangle * 0.3)

branch(n - 1, pl, len * bscale, angle - addangle)
End Sub

End Class
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Private Sub Commandl Click()
Print kaijo(b)
End Sub
Private Function kaijo(n)
ITn =1 Then

kaijo = 1
Else

kaijo = n * kaijo(n - 1)
End 1T

End Function
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